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i 371 144 15 549 0 0 0 2 101 91 0 0 0 4 2 273 13 90 0 0 117
wIkAE 53 53 21 53 0 0 0 21 53 53 0 0 0 21 21 53 53 53 0 0 53
IR K E 8 8 2 13 0 0 0 0 8 8 0 0 0 0 0 8 2 8 0 0 8
() HEBE 0 0 0 0 0 0 0 0 1,284 731 0 0 0 0 0 1,325 0 0 0 0 0
2 3 1 #2,3 0 3 3 0 0 0 0 252 3 431 #3 0 0 0 0 0 216 #3 1 *3 1 #2,3 0 0 1 #2,3
#E 433 %3 205 #2,3 37 617 3 0 0 0 22 1,697 3 1,313 # 0 0 0 25 22 1,873 *3 68 3 151 *2.3 0 0 178 *2
774 446 95 943 0 0 0 48 254 1 272 1,2 0 0 0 52 46 470 %1 86 329 0 0 392
A 67 67 26 67 0 0 0 26 30 xl 43 %12 0 0 0 26 26 27 #1 67 67 0 0 67
ﬁ;‘;ﬁﬁ 18 18 4 30 0 0 0 0 18 18 0 0 0 0 0 18 4 18 0 0 18
0 0 0 0 0 0 0 0 1,264 xl 1,426 *1,2 0 0 0 0 0 1,090 =1 0 0 0 0 0
859 531 125 1,041 0 0 0 74 1,565 xl 1,759 *L2 0 0 0 78 72 1,606 xI 156 413 0 0 476
Yl 5 1 1 # 0 1 7 *1 0 0 0 0 1 1 * 1 # 0 0 0 0 1 0 1 3 %l 0 1 1 # 0 0 1 1
b E 1 #1 1 # 0 1 1 *1 0 0 0 0 1 #1 1 # 0 0 0 0 0 1 %1 0 #l 1 %1 0 0 1 %1
T T 0 0 0 0 0 0 0 0 338 #1 249 #1 0 0 0 0 0 349 #1 0 0 0 0 0
(N) iU kK 0 3 0 *2 0 0 3 0 0 0 0 1 3 1 %3 0 0 0 0 0 1 =3 0 3 0 *2 0 0 0 *2
7oy 7 0 *3 0 #3 0 #3 0 #3 0 0 0 0 *3 0 #3 0 #3 0 0 0 0 *3 0 #3 1 #3 0 *3 0 *3 0 0 0 #3
aat 5 *l 2 3 0 3 8 I 0 0 0 0 3 340 *1 251 %1 0 0 0 0 3 0 3 352 *1 0 3 2 3 0 0 2 %3
EYlEE 203 1 105 1 19 1 265 1 0 0 0 9 1 63 1 64 1 0 0 0 10 1 8 1 132 *1 17 1 74 *1 0 0 90 *1
b E 1 # 1 # 0 1 1 #1 0 0 0 0 1 #1 1 #1 0 0 0 0 0 1 %1 0 #l 1 %1 0 0 1 %1
AGHE HEBE 0 0 0 0 0 0 0 0 5,634 *1 4,763 *1 0 0 0 0 0 5,694 *1 0 0 0 0 0
(N) HRK I 0 #3 0 *2 0 1 0 0 0 0 15 3 24 0 0 0 0 0 13 #3 0 *3 0 *2 0 0 0 2
7oy 7 14 3 13 #3 3 %3 17 #3 0 0 0 2 %3 11 #3 10 #3 0 0 0 3 %3 2 #3 18 *3 4 %3 10 #3 0 0 12 #3
it 204 #1 105 *1 20 *3 266 *1 0 0 0 10 3 5,697 *1 4,828 *1 0 0 0 11 3 10 3 5,826 *1 20 *3 76 %3 0 0 91 *1
Yl 37 1 14 #1 2 1 55 1 0 0 0 0 1 10 1 9 1 0 0 0 0 1 0 1 27 *1 1 * 9 1 0 0 12 1
PNIDE: &= b EE 0 =l 0 =l 0 =l 1 % 0 0 0 0 0 =l 0 =l 0 0 0 0 0 0 =l 0 =l 0 =l 0 0 0 =l
REFE | 0 0 0 0 0 0 0 0 1,919 # 1,623 #l 0 0 0 0 0 1,942 #1 0 0 0 0 0
(N) HERKH 0 *3 0 #2 0 0 # 0 0 0 0 4 % 7% 0 0 0 0 0 4 %3 0 #3 0 *2 0 0 0 #2
7oy 7 5 %3 5 #3 1 3 T *3 0 0 0 1 #3 4 %3 4 %3 0 0 0 1 #3 1 3 7 #3 2 #3 4 %3 0 0 5 %3
arat 38 3 18 3 2 3 56 x1 0 0 0 1 =3 1,929 =l 1,632 =l 0 0 0 1 %3 1 #3 1,970 =1 3 3 12 %3 0 0 15 3
S 166 *1 90 *1 18 *1 210 #1 0 0 0 9 1 53 =l 55 xl 0 0 0 10 %1 8 104 *1 16 *1 65 xl 0 0 78 1
b gE 0 1 0 1 0 1 1 #1 0 0 0 0 0 1 0 1 0 0 0 0 0 0 #l 0 #l 0 #l 0 0 0 #l
WA F R 0 0 0 0 0 0 0 0 3,715 *1 3, 141 *1 0 0 0 0 0 3,762 1 0 0 0 0 0
(N) HERK S 0 #3 0 #2 0 1o 0 0 0 0 11 #3 17 3 0 0 0 0 0 9 3 0 #3 0 #2 0 0 0 *2
7oy 7 8 #3 8 3 2 #3 10 #3 0 0 0 1 #3 T *3 6 *3 0 0 0 2 #3 1 3 11 #3 3 %3 6 *3 0 0 T *3
Gt 166 1 91 =l 18 *1 210 I 0 0 0 9 3 3,768 *1 3,196 *1 0 0 0 10 =3 9 3 3,857 *1 17 %3 66 x1 0 0 79 1
FRBhF B (MR 141 *1 55 *1 6 *1 208 *1 0 0 0 1 #1 37 *1 34 *1 0 0 0 2 *l 1 #1 101 *1 5 *1 34 x1 0 0 44 *1
N HEBE 0 0 0 0 0 0 0 0 948 #1 741 *1 0 0 0 0 0 975 #1 0 0 0 0 0
HBICPE S EHRFR (N 0 0 0 0 0 0 0 0 5,972 *1 5,012 *1 0 0 0 0 0 6,043 *1 0 0 0 0 0
[EA 16, 555 16, 198 678 17, 179 0 0 0 446 15, 806 15, 140 0 0 0 571 375 17, 431 2,373 14,610 0 0 15, 663
Lok Wik AR 1TH% 16, 287 15,912 607 17,001 0 0 0 410 15, 527 14,789 0 0 0 517 339 17,313 2,105 14, 200 0 0 15,324
. (N) LEf%| 13,950 13, 486 232 15, 288 0 0 0 161 13,520 12,410 0 0 0 196 125 16, 248 910 11,381 0 0 12,773
1y Atk 3,800 3, 603 0 5, 655 0 0 0 0 6,809 4,984 0 0 0 0 0 9,426 18 2,765 0 0 3,318
[EA 3,322 3, 107 2,431 3,813 0 0 0 2,135 4, 448 3,871 0 0 0 2,411 2,122 4, 490 2,437 3, 107 0 0 3, 107
T XEEAR 1A% 2,802 2,618 2,058 3,221 0 0 0 1,798 4,084 3,453 0 0 0 2,033 1,790 4,130 2,058 2,618 0 0 2,618
(N) LI % 1,012 945 744 1,163 0 0 0 652 2,838 2,023 0 0 0 736 644 2, 897 744 945 0 0 945
1y Atk 25 25 17 25 0 0 0 17 2,152 1,236 0 0 0 17 17 2,219 17 25 0 0 25
B 1, 208 677 0 1,505 0 0 0 0 2,603 1,833 0 0 0 0 0 2,920 0 516 0 0 602
TATTA ey 1H% 92 52 0 109 0 0 0 0 1,545 904 0 0 0 0 0 1,645 0 40 0 0 46
eE = L[ #% 0 0 0 0 0 0 0 0 1, 460 831 0 0 0 0 0 1,527 0 0 0 0 0
1y Atk 0 0 0 0 0 0 0 0 1, 460 831 0 0 0 0 0 1, 506 0 0 0 0 0
B3 554 305 0 696 0 0 0 0 1,439 1,042 0 0 0 0 0 1, 559 0 234 0 0 272
i AEERHE 1 H % 511 282 0 639 0 0 0 0 1,377 989 0 0 0 0 0 1,489 0 213 0 0 249
([E1%3) L[ 74 41 0 95 0 0 0 0 762 465 0 0 0 0 0 796 0 31 0 0 36
1y Atk 38 21 0 46 0 0 0 0 708 419 0 0 0 0 0 736 0 15 0 0 18
% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
it A 2 XhEF% 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(F) L[ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1y Ak 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W Lé% ’_(Fﬁ) 4 4 2 4 0 0 0 2 4 4 0 0 0 2 2 4 2 4 0 0 4
i Lé%bmf:% (&) 1 1 0 1 0 0 0 0 1 1 0 0 0 0 0 1 1 1 0 0 1
T - g () 4 4 0 5 0 0 0 0 3 2 0 0 0 0 0 5 0 2 0 0 3
i s (65 T) 1 0 0 1 0 0 0 0 1 1 0 0 0 0 0 2 0 0 0 0 0
fp () L8H 0 836 *3 0 2,621 *3 0 0 0 0 37, 7773 22,896 3 0 0 0 0 0 40,500 *3 0 794 3 0 0 1,140 =3
4~TH 18,657 *3 15, 472 276 *3 21,428 0 0 0 0 67,689 *3 58,816 *3 0 0 0 379 *3 229 3 72,580 *3 1,587 12,837 0 0 14, 475
ATERERE SRR | R ik (7)) L3H 86, 785 87, 428 2, 686 102, 676 0 0 0 0 92, 896 85, 550 0 0 0 1,802 0 105, 459 5, 086 82, 400 0 0 89, 225
T A~TH 182, 172 176, 767 4,709 194, 481 0 0 0 0 174, 003 162,512 0 0 0 4, 067 1, 209 201, 882 15, 788 152, 684 0 0 168, 686
EAi (B0 902 3 506 *3 105 *3 1,262 3 0 0 0 47 12,223 *3 10,795 *3 0 0 0 69 60 3 12,538 *3 78 387 3 0 0 453
[ S LB A 4 2 0 5 0 0 0 0 13 3 9 3 0 0 0 0 0 14 3 1 1 0 0 1
REpERp@E (00 I HE R 7 0 0 0 0 0 0 0 0 12 11 0 0 0 0 0 12 0 0 0 0 0
— LH#% 476 257 54 632 0 0 0 32 6,113 *3 5,406 *3 0 0 0 35 31 6,269 *3 40 195 0 0 227
00 LI % 1,857 1, 659 70 2,100 0 0 0 44 3,692 3 3,141 3 0 0 0 50 40 4,163 *3 192 1, 389 0 0 1,561
B 1y Atk 1,097 962 27 1,573 0 0 0 16 2,070 *3 1,610 =3 0 0 0 17 16 2,640 *3 44 741 0 0 883
: — LH#% 317 171 36 421 0 0 0 21 3,087 3 2,746 *3 0 0 0 23 21 3,180 *3 27 130 0 0 151
(’j\') L % 1,857 1, 659 70 2,100 0 0 0 44 1,123 =3 1,149 =3 0 0 0 50 40 1,333 =3 140 1, 389 0 0 1,561
1y Atk 2,559 2, 245 63 3,670 0 0 0 38 4,830 *3 3,757 *3 0 0 0 41 37 6,160 *3 103 1,729 0 0 2, 061
LH#% 102 55 12 135 0 0 0 7 1,306 3 1,155 =3 0 0 0 7 7 1,339 =3 9 42 0 0 48
SEREREFE (N A% 397 354 15 448 0 0 0 9 788 3 671 3 0 0 0 11 9 889 3 41 297 0 0 333
Ly % 234 205 6 336 0 0 0 3 442 %3 344 =3 0 0 0 4 3 564 3 9 158 0 0 189
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